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The branch of Biology which deals with the sludy
of heredity and variation is called:

Choose the most appropriate answer from the
options given below:

(A)  Reproductive biology

(B) Inheritance

(C) Genetics

(D)  Dominance

(E)  Question not attempted

ﬁﬁwﬁmmhm% FHEETe B-
ﬁw%mﬁwﬁﬁﬁwﬁhmmwgﬁ
(A) S99 Shafagm

(B) dwmfq
(©)  snEfuh
(D) wrfear
(B)  31gafa wy

Which of the following is not a function of'blood?

Choose the maost appropriate answer from the
options given below:

(A)  Excretion of the waste products out of the

body

(B)  Production of cnzymes for digestion of
food

(C)  Exchange of 0, and cCoO, between
environment and the tissues

(D) Transport of hormones

(E)  Question not attempted

ﬁnfm“@aﬁﬁmaﬂaﬂw-maaﬁm%

Freferfiaa et o & wafferas saaw S

(A)__ A s1f3re wareit w1 seasiy

(©) amwaﬂtmaﬁ%aﬁao,aﬁtcoq
iR e

(D) M} 1 gftgeq
(B) ¥l ag
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Hormone insulin is produced in-

Choose the maost appropriate answer from the
options given below;

(A)  Adrenal gland (B) Liver

(C) Pancreas (D)  Gall bladder

(E)  Question not attempted

3Hf BTHH T 3eqre Brr -

ﬁmﬁwﬁaaﬁmﬁﬁwﬁba;a’wgmmgi;
() stfergas (ufgen) nfer
(B) aFa (eftaw) i

(C) 31T (Afsparen) i
(D) fg=merr (et sdrev)

(B)  ovafta gy

I the difference between 71% of a number and

49% of the same number 1s 396, then the number
iS:

nﬁﬁm}n@n%ﬂ%w'wm%w%ﬁ

ST 396 &, |Y G 2 ' ‘};./
(A) 1720 12

W 9% -
(B) 2200 Sy
(©) 2000

R 1800

(E) Question not attempted / 3T vy

@ A sum of money was lent on simple interest for a

certain time, If the sum amounts to T 6000 at 10%
rate of interest and to ¥ 3600 at 4% rate of
interest, then find the time (in years) for which
the money was-lent?

T TR AT SIS 9 s q0A fm?»fm?ﬁ
s afs afd 10% = 3 7 6000 & SR & AT
4% SIS WA T ag (0 & STt 2, @t 1 Ao

L3

uﬁnﬁ?ﬁ“‘m( %figlmiﬁﬂg%m
(A) \E‘A’/w
Y/oy/y

T
(€) 20 4’{0%{\

O\X
@ 10 3
(E)  Question not zmcmpted/‘?"o;m“ il
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o preed ©
6 A sum of X 15,500 was lent partly at 5% and the \1{ Which of the following is an indigenous
remaml:g ;t 8:’? sfilible interest. The total interest chicken? C‘:{: o the
recerved alter 4 yeurS was ¥ 4000. The ratio of the : e answer {0
money lent at 5% Yo'that at 8% is: Choose the most appropmr
¥ 15,500 T¥r =y AT 5% qT S5 w7 89% options given below: ':I
IR S1ST WX TR 4 a@ftrm‘ercrm (A) Rhodeislandred ¢
¥ 4000 STH T3 30 0 3o <t 778 Ry 57 804 —mk@
: (B) Plymouth
?ﬂ’lil'rﬁ'rﬁﬁ;m% (C) Aseel & W Qo"lﬁ‘
: ; o
© 15:17 < O 17:15 (D) White leg horn (/“U
(E)  Question nmttempted / @Wﬁa BEY) (E)  Question not attempiigd Seft
i ﬁm%ﬁaﬁﬁﬁaﬁ:ra‘}ar&é (Fafert) T TP
If the difference Ween compound 1nterest and _
simple interest Ongacertain sum at 20% p.a. for 3 T R? N
years is ¥ 480, theffthe sum is: ﬁ::{%ﬁgaﬁw‘rﬁﬁaaﬂwmwaﬁ
afs T ufd
T 206 a1fife i s & 3 F frg @A) A2 amdee ¢3
Wﬁmmﬁmmﬁweﬂ)%ﬁr yis
Tfare: » 2V ~i5 8o (B) gAY -
(A) T4000 (B) Z6500 NO) ol 0
(C) X 6000, o) ™D 2 3750 (D) TR AR o
(E) Question nm'httempted / 3ﬂﬁﬁ?f e (E) mgﬂ g
What percentagecf the total milk protein is. _ s
casein? ek yo N} ) g
11 If z les are added,to copper sulphate
e, mmuﬁrrﬂmﬁuﬁmﬁ%ﬁ%‘? | . e
Choose the most appropriate answer from the | '~ solution, Wwhat will be observed?
options given belQw: Choose the most approp&te answer from the
fefafaa i & Faiforeh Suzeh 3ot g - options given below: £}
(A)  A05H5% vyl MR (A) Solution becomes ca%rless.
(C) 80-83% ™N (D) 60-62% L] B :
(E)  Question n@attempted / g v (B) "Solution becomes r%m colour.
> C)  Soluti i
"9 Select the green fgdder from the following: (€) Solution becomes b{- W1 1n colour.
Choose the most appropriate answer from the (D)  Solution retains its blue colour,
options given below: 6 v\;:m( ‘31 ! r{! (E)  Question not attempted
(A)  Oathay & 1 aﬁﬁm%wﬁaﬁwqﬁ%wﬁﬁ
an ucerne TIe
g f:rszr:c ) A H £ L T A Ry
us o
0 ferfefia foreret o & wrarifens e
(D) Paddy Stra 6 vy 20y 3 j—y;/o 3"3?53?1(33
Question nqigttempted TR 5 o (A)  forerar G & s g
ﬁm%ﬁaﬂﬁﬁﬁ T T BT _ (B) ﬁwmmmé@ni}.
orerferfae fae G4 wrrtferes g I o © frem R EE R
\ ST R
A) FEFEE \B) T s :
b N (D) et a7 A 1 2 sy
(©) &I (D) t‘-Tl;T/:?T ‘:I'HT _& T@aT%I
_ ( (E) g ws
(E) :ﬂﬂ?fﬁ'aﬁﬂ lfoﬂDY 'N\ T 3 ol 3754 X 27
TUV C09} b, & "";f 3 w03 Wbo
39 ) X = 4 [C
— 7 [ . Ong
4 (N 4] w % d"-
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Choose the incorrect statement with reference to
non-metals,

Choose the most appropriate answer from the
options given below:

(A)
B)

A _Don-metal is used in the water

purification process.

Non-metalg are used in fertilisers.

"W (C) 'Nqn—inetzils are good conductors of heat

|
| bﬁ What is the greatest 3-digit number which whe

divided by 15, 25 and 30 leaves remainder 12 j

each case?

3 it oy ot & et et aET R & o 15, 25
30 9T T T NTHS Tedeh feurfa 7 12 3wy
Z)Q 912 B) 941

(C) 934 (D) 928

(E) Question not attempted / ?ﬂﬂﬁ'ﬁﬁ Ty

and electricity.
(D) Non-metals are used in crackers. 15  The average of 9 consecutive numbers arrang‘ ‘
(E) Question not attempted in their ascending order is 18. What is the averag
W%WﬁWWﬁﬁﬁql of the first seven of these numbers?
ﬁm%%aﬁwﬁﬁﬁmf&awgww:ﬁ: 9 SHUTTA GEATE SiT STRIET 3hH | AT & ohT STHe,
(A) ST T ST Skt fararr ST 24 18 31 57 & el T wEATSH 7 Sited 1 27
(B)  3TUTq T SUANT S Sive St wizeam i (A) 18 B) 16

ST y e 17 D) 175
€C) YTy SoAT R fogra i gam%l (E)  Question not attempted / TR T
(D) AT T STANT vert & R SepRl | ~ _
(E) aﬂwgﬂ B Cleh Y l(Vg'\{ : '916\ What is the average of the numbers 9, 5,7,16, 16 1

1< Lo

How many images of an object are formed when
it is placed between two parallel mirrors, facing
their reflecting surfaces?

Choose the most appropriate answer from the

options given below:

(A) Infinite (B) One
(C) Two (D) Four
(E) Question not attempted

ST fS oht Gt e Uk gEL % SRE , Ay
& fop gfdfsia s &2 |

3 & gaiferes 3ugE S
B) T

E) SHARGTE

17

and 137
9,5,7,16,10 qT 13 W1 T 3iae =1 22
) 10 ®) 11

© 125 D) 10.5

-(E)  Question not attempted / STTANT w1

The average marks of 40 students of aclass in a ﬂ
test were calculated as 33. But later it was found |
that the score 33 was taken as 93 by mistake.
What is the correct average of their marks?
m%mﬁaﬁiﬁ%@qﬂmﬁaﬁwmn N
TS 5 3 g 36 33 3 ol TeTat & 93 & foram

o) 37 ek} &7 ey 3T =T

(A) 3125 B) 345

(C) 33 YAl s

(E)  Question not attempted / STTART T

5 [ Contd...
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\Q. Name the dialect spoken in the region of Kota, )

Bundi, Jhalawar and Baran.

Choose the most appropriate answer from the
options given below:

(A) Dhundari (B) Mewati
(C) Hadoti (D) Bhili
(E)  Question not attempted

HIT, S, FremaTS SN F A 3 el s arch
MWWW| ’

ﬁﬂ%%ﬂﬁmﬁﬁﬁwf&mwgmmgﬁ:

(A) ZERt B) Nawh
~O) TTSKY (D) sfieht
(E) StIai@ww

\{ In which area is the Salasar Hanumanji fair held?

20

Choose the most appropriate answer from the

options given below:

(A) Churu (B) Udaipur

(C) . Pali (D) Karauli

(E) Question not attempted

TR SIS < el el el 87
Frerferfae faemeci § & wrrtfires Juge S
W T ®) R

() et (D) et

(B)  FRATH

Where is Latthmar Holi played in Rajasthan?

Choose the most appropriate answer from the

options given below:

(B)

(A) Barmer Bhinay

(C) ° Banswara (D) Sﬁmahavirji

(E) Question not attempted

e & AT Bt Far el ST 8?
frfafad el & waifere Iageh I T
(A) TS ® fE

(@)% FiFars! (D) et

® T

. Tuv-C091 &

N2l

\%2

. s called:
The process of coating teeth with gold 15 €

. from the
Choose the most appropriate ansWer

options given below:

(A) Mokdi (8) Rakhan

(C) Choonp (D) Kandora

(E) Question not attempted

2t Y i e gy T o A &
e R s 3G 3T T
(A) HHS B) T

) 9 (D) R

(B) IaRaud

Name the famous folk theatre of Jaipur.

Choose the most appropriate answer from the

options given below:

- (A) Tamasha (B) Swaang

(C) Chaar Baint (D) Hela Khyal
(E) Question not attempted

SR % e Sleh A1k T AT A1y
frefeiRad Rreredi & & waifare Iugw™ ST I
XA) qHTET (B) i

(C) FRsW (D) IAEAA

(B) guiayd '

Which place‘has the distinction of being the most
mysterious tourist place in Rajasthan/India?
Choose the most appropriate answer from the

options given below:

(A) Taragarh (B)  Shergarh

(C) Mandalgarh (D) Bhangarh

(E)  Question not attempted
mn/m%aﬁ?-ﬁmaﬁqafmwg
Tee: TS B I TSI UTH 82

(A) ARG (B) I »
() wiEeTg \03) g

(B) Sfgaid o4




24 Which of the following institutions launched the \m Choose the mismatched pair with reference 4 ‘»
_ Centralised Web Portal ‘UDGAM’ in August waste managsagent ,_
. 023? Choose the #fast appropriate answer from the
0%% ﬁﬁ%ﬂmﬁﬁ%ﬁa%qﬁa Iy’ options giverf Below:
o STEATT Ty 2023 ¥ (A) Housegad source - radioactivg substances‘,
:Choose the most appropriate answer from the (B) Textilgipdustry - waste fibers
gptlons given below: (C) Agriculfiire - pesticide run off
LS ﬁﬁq“qﬁmﬁﬁmmmaﬁ (D) MedichFsector - infected tissue, syringes
(A)  UGC (B) ISRO (E)  Question not attempted b
;{{g 1;2:::1 (D) RBI mﬁmwgmﬁﬁwmwwmﬁ
on not attempted / mﬂf{?r e wifera 7 21 o §

\K h ‘Rising  Rajasthan Global Investment ﬁﬁ%ﬁaﬁlaﬁ‘i' § 9 Aaqifers s > W?ﬁ
s Summit’ scheduled for December, 2024, will be Q) Eﬁf!\a':“‘ feae

:sijeld at: - B) T — Squfsre W@
) hoose the most appropriate answer from the (C) Hfy - afgama
‘options given below: (D) Faferedia & — dspfira oae, gsar
ggg‘(A) Bhilwara (B)  Jodhpur . (E) Iraftis
7(C) . Udaipur (D) Jaipur h T 7
“(E) Question not attempted \2& Which of thd¥pllowing diseases are not caused -

o
2 “fedat 2024 @ qrer - mmmﬁw by bacteria? ""

AT © el STt forar o a Tuber@)sw
Kﬁnﬁrﬁaﬁrﬁmﬁﬁmmwaﬁ b Polio \O
s ”tA) RINEIS) (B) \?ﬁ‘b‘l‘gt C. Measle%—‘)
O T W) TR e Typhoig,
() SIgaia g _ e.  Malarig)
' 4The traditional hunters of Rajasthan include: ‘Choose the fulst appropriate answer from the
Thori b.  Naik options giverow:
e Sansi d.  Boliya - (A) .c,dan@® only (B) a,bandc only
wChoose the most appropriate answer from the (C) b, candy only (D) b, cand e only
~‘options given below: (E) Questf@ not attempted
(A) canddonly. (B) aandbonly. ﬁﬁmﬁﬁm%mmﬁﬁﬁéﬁﬁv
“(C) bandconly. (D) a,banddonly. a aﬁﬁq;ﬁt@w-&m)
{Z(E)  Question not attempted b, g0
{ISTET % qrafieh et &: ¢ E (MR
' d

B ¥ Ratte B) mere b ot

© mb’caﬁtdmg aﬁlﬁb,céﬁﬁte
(BE)  srgafauy




The country defeated by India in the semifinal ofj
1CC MEN’s T20 WORLD CUP, 2024 is:
Choose the most appropriate answer from the
options given below:
(A)
(©)
(E)
% 2w o <omms ot W v A 20 fymw, 2024° F
AT § W 3w o
frafoaa faeredt # & watffas ITFH I -
(A) Sfrr ®) s

O wwsthEr (D) e
(B) ITai@ as

Australia

(B)

(D)  England
Question not attempted

Afghanistan
South Africa

The Rajasthan government has started a

programme for the proper management of water
at the local level.

Identify the programme.

Choose the most appropriate answer from the
options given below:

(A)
(B)
(O
(D)
(B)
TTET GO A e o Afa Sea & fore o
T G HRIRH I &3 8
FriEw Y aEEH i

frafafiaa faswedl § § aaifies Jugw I 74:
TTEAT ST G fee

STt whifa AR

quTHAT ST SiaeE

g@ﬁ‘w e

Rajasthan Jal Sanrakshan Mission
Jal Kranti Abhiyan
Pradhanmantri J.al Swavalamban
Mukhyamantri Jal Swavalamban

Question not attempted

(A)
(B)
©)
®)
(E)

Frar 94

TUV-C09] &

Y
|
|

R

4y acrO™

projec! is V!

The Bisalpur MultipurPOSC " N
which river? : appmlm.aw angwer

Choose the mos

options given below:

(A) Banas

(B) Chambal

(C) Mahi

(D) Jakham

(E) Que.stion not attempted L . iy "
e et & grtfer 3957 S
Ty

(B) ==

(C) W

(D) T@"

(B)  rwia we

Which multipurpose project is located at Borkhera
in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)

(E)  Question not attempted

W-Fﬁ*ﬂ'@%ﬂﬂﬁqﬁ!ﬂammm :
T feora ¥ i ﬁ%%

Fraferfiaa et i 4
YA g ufvise
() WIS SIS |
& T e g

™ s ()
() srmafagy R

7

Sidhmukh Project
Mahi Bajaj Sagar
Rana Pratap Sagar

Jawahar Sagar

| Q“'\tq
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Support money for smalj cattle (small govansh)
under, cattle maintained in cow shelters registered
by the state government is enhanced from October
2024 as:

Choose theﬁmost appropriate answer from the
options given below:

A) X 52/ day (B) ¥ 36/ day

©) T22/@ay (D) %38/ day

(E)  Quesfion not attempted

TST TR g Usfisha miemmensiy § w@ 7 gafmt
¥ it F ere wiveren) 3 fore wererar ot
AT, 2024 F 36 ThR 7578 TS -
Pttt et 3 & et suges s

(A) T 52% B) T 36ufafe

©) T2 (D) 3sWRRA

(B) ITgatqws

Which one %thg following is incorrect about the

ban on fishing in Rajasthan during June-August
2024?

Choose the “most appropriate answer from the

options given below:

(A) The ‘_%n on fishing is for full month of
June@@d half month of August.

(B) Fish&pecies grows during the fish breeding
seasom?

(©) Fish Rsiness, exchange and display is also
banned.

D) Entixg July month ban on fishing is
applgsabl'e. ,

(E)  Questi¢n not attempted

-3 2024 % A TSI F et gohe T

yitrerer & afeat fFreferfiad & & @ a1 e 82

frfefiaa fdehedl 3 @ @aifers 3ug® S -

(A) ST % QU S ST F T 7E % forg
TS Tehe T s B

(B) el Ay ot Hoct s % e 3

(C) e, i 3 foor @

BITEL R
D) “g’@mﬁmwwmwﬁl
TRaTE

(E) igafed,

TUV-C09] -
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Which of the following countries is the host op

the “International Conference of Agricultury
Economists” (ICAE)- 2024?
Choose the most appropriate ansWer from the
options given%low:
(A) Mayan B) Ne;_aal
(C) Bhutan' ° (D) dIndla

uestion not attempte
gﬁﬂ%ﬂ H oA T I F srefanfeat &
siqisa aegE” (ICAE)-2024 mﬁam%? :
Arferfaa fgsdl 3 & aaffers I9g® ST H:
(A) MR (B) AUTA
©) M o (D) ¥Rd
(B) gaRggd
From the lisf of the following statements, select
the correct stiféments:

a. The eg\f’grnal appearance of an individual
is called.genotype.

b. The chasacter which expresses itself in F,
generation is called dominant character.

e Such ®jpe of cross in which a single
cox}tragﬁ‘ng trait is considered is called
monoﬁ%rid Cross.

d. The f&¢for that controls a character is

. called géne.

Choose the wst appropriate answer from the

options giveqlb)elow:

(A) candd only (B) a,bandd only

© b only (D) aand c only

(E)  Questign not attempted

Frefiea wugt & o=t § ¥, ot w1 =9
HNCG oy |
a. 5l o ¥ s e W fewer |

(STHTIE) e & |

I LA R RS e ——
g, FEATAT )
oo T EERT R u fretet seor @ e
N TE RS R wer @ R s 2,
S et R
e feg g 'ﬁﬁwaff&a;awg?swg?’r:
(A)QC%TR-TCV d (B) dacra, b3id
<) mbmsﬂm(ef FaeTa ol c
(E)  SrgaRasp
[ Contd...
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The plants which are crossed to obtain the
offspring are called: T ’

Choose the most appropmte answer from the
options given below:

L

(A)  Zygote N
. (=)

(B) Hybrids S

© Parental generation‘:)

(D) First filial generation

(E) Question not attemﬁwd

3 9, e vraﬁr ST A & fore wereor s
7T B, e &

o =
W) ITES R o '
: \O
(B) TR b=t
(C) S e
(D) T dar it
‘:1'
(E) AT ¥ >
™

A first class airport at Jaﬁ: in Rajasthan from
where the domestic andCinternational flights
operate is known as- w
S .

Choose the miost appropriate answer from the
options given below: -

(A) Rana Sanga Airport ¥}

(B) Sanganer Airport i::

(C) Dr. Babasaheb Am@e&kar Airport

(D) Rana Pratap Airpori:}

(E) Question not attem d

e 3 S i e e Syoft gad s I §
Wﬁﬁﬁémﬁwwmiﬁ
(A) O I EE SFETe- :
YB) wmEdsge

(©) <. s aﬁm%mé argel

(D) T JaTd T gt

(E) Igafa d

TUV.C09] -

forests
Characteristics f Palashl
Rajasthan are: md o .
forests are S
a. These > e

mong
b.  They are found abundantly
' i ;jable-
where plateau land 18 &t)alla i "
c These types of forests ar¢ found 01

Mount Abu region- < .

Otound in the plains

d.  These forests are also’ ’ un o
| ss amoun!

which are pebbled andrlg‘ave le

soil.

answer from the

Choose the most approprt

0602

options given below:

(A) a,c and d only.

(B) a,b and c only

(C) b,candd only.

(D) a,bandd only

(E) Question not attempt
T 3 973 ST AT T S ohr R &
3 o7 37 &1 3 St & STat T T Tt

F21284

a.

g Td FIR Bl -

b, ¥ gerfedt ¥ ST SET § ST AT H U S @

£. < TR 3 I Shael TSE TS & F U Sy
gl %

4 ¥ e off o S ¥ SEf S § e
ﬂﬂﬁmﬂﬁm‘ﬂm@|

ﬁmmﬁwﬁﬁﬁmmmgﬁ_
(A) Facta,c3d N |

~
(B) Facia,b3ic N
(®)] Fael b, ¢ 3d %

\‘P) Faeta, bd =
(E) i@ 54
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| atch List-I with List-1I:
Match List-1 with List-11: \“\ Match Lis .
: List-1 List-

) i (Lakes of (Cities/towns
(Types of Soil) (Most appropriate Rajasthan) where located)
uru
characteristics) Ana Sagar I. Ch

a
b.  Tal Chhapar 1. Tonk

a. Red yellow soil 1. Contains a sand .
. A ’ Sardar Samand  1II.  Ajmer

(A
loam texture d.  Tordi Sagar IV. Pali
b. Desert soil I1. Presence of iron @ IEh:T%'F:ﬁ -II ﬁaﬁ%ﬂaﬁﬁq
. ot -1 gt -11
particles _ & I’ -
c. Black soil 11 Cannot absorb and after arafRea )
hold much water a. M HETR . :'_3!-{‘—‘
d. Alluvial soil 1V. Cheeka dominated soil be . NIRTRINE o aw
’ c. WEREHE 1L ST
Rl SR b 4. AEmm v. et
Iﬁnf‘ ‘Eﬁ‘“ i Choose the most appropriate answer from the
(G %?S;ET{) @t nEeut . options given below:
3 A R e Rt # & i sugw 3w gf;
%ﬁ'ﬂﬂl‘(} (A) a-1V,b-Ic-1I,d-1
a A gar, o1 el dET A | By a-NLb-ILc-Ld-1V
b. wEedet 1. wite i i deht Y a-NLb-Le-1V,d-T1

(D) a-I,b-IV,c-II,d-III

c. Il war 11, SISt 9RO U INS7 8T
- (E)  Question not attempted / 31FaRa w5

& qreft STt R

~ ' . .
d. a?ﬁgt!a'[ V. %ﬁammgar \42\ What is the difference between compound

: interests on T 40,000 at 10% per annum for | =
Choose the most appropriate answer tfrom the 2

years when the mterest is compounded semi-
options given beloWs annually and when it ig compounded annually?

At few e fereked ® @ ASiferes 3uge 3wt g, ¥ 40,000 W 10% anfi¥er ax @ 1— ™ ¥ skl

(A) a-1Lb-1Lc-1V,d-1 “"“'f'ma‘. I Wﬁm@ﬁaaﬁ%am
T a'iaa‘mﬁmﬁ,m%%v ;

@B) a-Lb-llLc-1,d-1V ) 7105 Newrsy %

TN 'W\WL .
(C) a-ILb-1V,c-1,d-1I (B) %110 \g%:l
: (C) %95 A

D) a-Lb-Mlc-1V,d-1I \ oS

i D) 100 TV

E ti t attempted / Nﬁﬂﬂa usq . . Q@S9

(E)  Question no (E)  Question no‘a‘-ten]pted / STt

TUV - C09 | & 10
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On an average, how many times does an adult
human being at rest in a minute breathes in and
out?

SR it fRorfer F e roreen g v e F i

Choose the most appropiinte answer from the
options given below: .

Frfefea foaepedt 3 & waifets suge s
(A)  19-22 (B) $9-1 1 ’

(C) 3234 (D) 515-18

(E)  Question not attempted / 31':!)?1'&?{ 99

Rapid uncontrolled cell
formation which causes i

ivision or tumor
lerable pains at a
later stage are the causes aleqjsymptoms of which
of the following diseases? -

Choose the most appropriqfe answer from the
options given below: &)

(A) Swine flue (B)mHemophilia

(C) Hepatitis A (D)~ Cancer-

(E)  Question not attempted

fomior et e srwerfa &' 2, 3 Fefafea
F & forer A1 3 o IR AP

Frafafad bt § & waffirs soge s

(A) AR ®) i
(C) Tuemfema ®) g%m :
(E) Iuiawd O ‘
Examples of infectious diséades include:

a. Cancer b. Cholera

G Arthritis S d. Swine flue

Choose the most appropriate answer from the
options given below:

(A) a,bandconly (B)"* a, bandd only
(C) b,canddonly (D) and d only

(E)  Question not attemp,

TehTHe U o SSTEWN H Sitgferd &

a. Fax @

b. BT (T |

c.  Tfear (@mdusfa)

4 @ w0

<y for T fereredt & wartters suges 9ot Tl

FaeTa, b3 (B)‘"‘%ﬁa;,baﬂtd

(A)

(©) Wb,caﬁtd(D)Sémabaﬂtd

(E) igafa W
TUV-C09] < ©
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0,
4 The cost of a commodity increased by 20%,

then

- %. B
a family reduced its consumption by 20%. BY

: the
what percentage will the expenditure ._Q‘f \
family on the commodity increase or decrease

(A) 6% increase [y i
(B) No change ; J
(C) 4% increase 3
(D) 4% decrease L0

3
(E)  Question not attempted

et o 35 e 8 20% o1 g 21 T T TRAR A
e B 3 20% it et S I T TIRER

%aﬁmmﬁﬁwﬁmq@mwﬁl
(A)  6%3fg H
(B) I3 uftad= &t ™~
(C) 4%3fg i{;
BN 4% FHT g'...,_;\
(B) Irgaia s

By how much 775% of ¥ 300 exceeds T210?
X300 H 775-% T 210 ¥ e aafres 2.0
(A) %33 R) 723 N
(R (D) %90 {'K;
(E)  Question not attempted / 313,?{1’{?[ L

Q_‘_{_’_')_
Every month Navin spends 60% of his sa:la;-y on
household affairs. He sends 50% of the remaining
to his parents and spends 50% of thes still

- remaining on family outings. Still he saveg &értain

amount, then what percentage of his sa‘li%y he
saves every month? v

mmmﬁmammso%ai—q@?;m
AT B 98 Y & 50% maﬁmqﬁl%h
%ﬁtwmﬁwmw%wﬂm%mm%}@“
ST AT -1 AT I8 30ft ft 5 o oy wg

T ST HE 9 ST 3 3 ey srﬁmagm
AT 87 (N
(A 12% B) 6% v
©) 8% NO)  10% N

|
(E)  Question not attempted / Sig'ﬂﬂa“)

[ Contq,



September 20249

Choose the mosy appropriate answer from the
options given below:

(A) Bhupendra Yadav

(B)  Jogaram Pate]

(©)  Arjun Ram Meghwal

(D)  Bhajanlal Sharma

(BE)  Question not attémpted

W2024%a§mmqm%mﬂsﬁaﬁq '

R Frfrfaa foraredt i & wartfers Iuge SAUTH:
ﬁw%%aﬁmﬁ@maf&wmmaﬁ (A) .. et |
(A) =R NB) I

B) ST (C) et gl =

%) N T Ao (D) It &id a8

®) ST Tt (E) IaRays

(E) Igaiawsy

Among the following MPs of the Present Lok
Sabha, who has been elected the maximum
number of times to the Lok Sabha?
Choose the most appropriate answer from the
options given below:
(A) Shri Ummed Ram Beniwal

- (B) Shri Gajendra Singh Shekhawat
(C)  Shri Dushyant Singh
(D) Smt Mahima Kumari Mewar
(E) Question not attempted

frafafaa & @ F9 I AR Fige dE

- (D) Shakti Kanta Das

y .. Name the law Minister of Rajasthan State as on \§L Name the Chairperson (as on 30 September 2024

of SEBI? “
Choose the most appropriate answer from th
options given below:
(A) U.B.Sinha
(B) Ajay Tyagi ‘
(C) Madhabi Puri Buch

(E)  Question not attempted . ¢
Asft (SEBI) o 16T 4 22 (30, Rraw=r 2024 o

In which state NLC India limited (NLC) has
secured - 810 MW Grid connected solar
photovoltaic project October, 2023?
Choose the most appropriate answer from the
options given below: |
(A) Tamil Nadu

(B) Madhya Pradesh

(C) Rajasthan

(D) Sikkim

(E) - Question not attempted ¥
W T Ht i fafee (vLe) 3 IR, 2023
mmﬁslomﬁgaa@ﬁ; e

stfire s e 3 fore Fratfe gom &2 Ferreft aftetorm arfirer o 27
freferfiaa Rl § & @i 3ug Jato: ﬁw%%aﬁm%ﬁﬁqaﬁmmwg%
(A) =it 3 TH ST (A)  dfirerrg
®B) oft = fie SETEa (B) wWeHIwRy '
~©O) gﬁasq‘-‘d‘ﬁ"&' ©) TS=m
(D) mmmm (D) Tty
(B) rgaRa ¥4 ' (B) safawsy
TUV-C09] < : ° [ Contd




Where did the Indian Air Force conduct the
“Exercise Vayu Shakti -249”

Choose the most appropriate answer from the
options given below:

(A) Alwar

(B) Pokharan

(C) Dholpur

(D) Tonk

(E)  Question not attempted

wmﬁaa’rgﬁmﬁ“mmgsrﬁs-zwmﬁ;m
ﬁw%@aﬁmﬁﬁﬁwaf&mawgﬁmgﬁ:
(A) AR

B), T

(©) R

(D) 3%

(E) orgaia wsy

In December, 2022 where was the first Sherpa
meeting under India’s G20 Presidency held?

Choose the most appropriate answer from the

options given below:

(A) Bharatpur (Rajasthan)
(B) Udaipur (Rajasthan)
(©) Bikaner (Rajasthan)
(D) Ajmer (Rajasthan)

(E)
fege 2022 & v At st-20 AeTerar 6 g ST

Question not attempted

N3 el ARSI I T o2
frferfae forsredl § @ waifare sugw v
(A) AL (TSTEAT)
NB)  SRAYT (TSEA)
(C)  fierTT (TRTEIT)
(D)  SASTHT (TSTEAT)
(B) Irgaia ¥4
Uv-co9] &
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St National
held in

Who won the women’s title in the ‘51
Women’s Carrom Championship’
Madhya Pradesh?

Choose the most appropriate answer from the

options given below:

(A) K. Sriniwas

(B) Rashmi Kumari

(C) R. Arokiraj

(D) Ravivarman Sharmila
(E)  Question not attempted

Ter W § e cs1ft o afeen S
SR =51 faars fre st _
freifafiaa feped 3 & waffres sag STCT:
(A) & hfem  B) WwFAEd

(C) W FS (D)  Wad wifdfar

(B) Agaiayud

Folk Dance Terahtali is related to which of the
following states of India?

Choose the most appropriate answer from the
options given below:

(A) Bihar (B) Jharkhand
(C) Manipur (D) Rajasthan
(E)  Question not attempted

AEATAT Ik T W o e T & gvarfoura 292
ﬁmﬁﬁaﬁmﬁﬁmmwﬁ
(A) for " B) wwEE

(©) =forgT D)  TSEE™
(B) Sguia s

The term such as Udaishahi, Khanjarshahi,
Shivashahi and Vijayashahi etc. are related to
which costume of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Dupatta (B) Turban
(C)  Angarakhi (D) Dhotis
(E)  Question not attempted

IS, TR, ﬁmmﬁ@ﬁsmma
TSTEA o forer it @ Heiftrg 89
mmaammw
(A) Tuer @ Tt

(C) siEh (D) ot
(E) SAgafta ws

Eﬁl

[ Conggq




' ' 2 . both in the Men/
\53 Name the main instruments of the Kalbelias. (61\ India won gold medal bo.

Choose the most appropriate answer from the Women’s categories in which of the foll_‘i
options given below: FIDE CHESS OLYMPIAD held
A leglq' (B) Algoja September 2024 at Bu@ffpest, Hungary?
©) Ravar{lijtha (D) Sarangi Choose the most app”&iprtate answer fr
(E) QueSlm not attempted op tions glV en below: !"" ",
Freraiferat T T 919 w13 (A) 47th N
ﬁﬂﬁf&qaﬁ@ﬁﬁﬁwﬁbmmwaﬁ - @ Q
> (B) 44 0
. : g C) 45t o
© m@ (D) i i
(B)  srafa s (D) 46t ‘
< (E) Question not atmhpted
\5\2 The ratio oﬁhe present ages of the Akshat, feramr 2024 & <L €'~TR‘T A aﬁ'{
Bhuvan, Sapdgep and Varun is 7:9:10:13. The ‘WWW'}W%W .
eldest is 12 Yehrs older than the youngest. What ' aﬁq}mﬁﬁlﬂﬂfqﬁm "‘.
will be the a%of Sandeep 5 years from now? ﬁﬁ%’f@ﬁﬁﬂﬁ@%&%%:ﬁ'{
A) 20 years (B) 30years (A) 4774t o 3
(©) 35years (D) 25 years (B) 444t
(E)  Question not attempted ©) 454t
37T, S, A T ST Y A A7 3 ST @ 46t <
7:9:10:13 8 R i o, TSR 12wt s i 23
2 Wﬁaﬁsa&wmmw#ﬁ? 2 -
(A) 20984y (B) 3099 ' \6{ Manu Bhaker, an Indjag athlete is related to |
© 35adL D) 25a% " sport of: o :
' \% | O 3
(E) g' Choose the most ap@przate answer fro m. th
| . options given below: ‘
\\69\ Grass-eating animals quickly swallow the grass (A) Boxing
and store it 1.5*?; part of their body called: (B) - Javelin throw g
Choose the W” appropriate answer from the (C) Shooting o
options givep.pelow: ' (D) Badminton
masunh B) Rumen
() O ®) vy Y (E)  Question not atfempted
(©) Oeso@gus (D) Small intestine 3
. Y TR U IR or werife o W & wisifer 2
(E) Questien not attempted ;|
T @Y AT gy S § O et G 59 I T i 'I%"E‘f . '?‘*‘_“i' i Iugeh S
ST & T A TR B 59 T Y (W) diE gy !
frefafaa feredt & @ @aifeds Iag ot 3 B) Sacfrsr g
san N | VO © e N
) ¢ g s ©) iz
© ey @ | N
(E) wgaﬂ@mr : (E)  STgeRa 8
14
TUV - C09 | o [ Cont



How many members are there in the R

representing Rajasthun State (as iy September

2024)?

Choose the most appropriate answer from the

options given below:

(A) 8 members

(B) 20 members

(C) 10 members

(D) 12 members

(E)  Question not attempted

TSTEAT T3 8 T8y 3 fore wreeit o wfffereg
(Faawait 2024 T&) 29

ﬁm%ﬁaaﬁ?ﬁtﬁﬁﬁ_waff&a;wgwmgﬁ;

(A) 8HIET
(B) 20@3&

\‘) 10 g&&t
(D) 126e=
(E) orgaia wsg

A shopkeeper sold an item for 765 afterallowing
a discount of 15"’0 on the marked price. What
would have been the selling price if he had
allowed only 10% discount?

U TG A SHfhd T UT 1 5% T2 3 gUHIE Fe
2 765 & a<fli afe 36X Fact 10% e & A,

%Eﬁuq@wﬁ’ﬂr? 3
(A) 2816 ',
B) 2790
(C) 2800
\Q) 2810 |
(E)  Question not attempted / 3FIRA 51
UW.co9) ¢ 11

ajya Sabha

5

15
;
{

A Shopkeeper allows successive discounts of
10% and 5% on every item. He allowed an
additional discount of 4% to his friend on an item
marked.at T 20,000. How much his friend P"if] for
the item?

S IR STedieh o 9T 10 T 5% i B 22
30T 21 3 19 firt Rt sifeRa e 2 20,000 Y FE]
T 4% i Afafes ge i suk e & 3@ o H

feemn e <gehra?
(A) T16,512 (B) 16,200
(€©) 216,320 ) 216416

(E)  Question hot attempted / 313?!‘&?9’5

The Human aliméntary canal consists of: -

a. Food pipe/ oesophagus
b. Stomach

(© vLiver

d. Intestine

€. Rectum

Choose the most apprbpriate answer from the

options given below:

(A) a,band d only
(B) 'a, 'b, ¢ and d only
(C) a,b,dand e only
(D) b,e,dand ¢ only
(E)  Question not attempted
T Y TR e B ¥
sa. TEHt
b. AT
c. gehd
d. 3
e, HA™
i T e ferkedt 3 @ watfues SUIH I -
(A) A a,b3ild ”
TB). Faet a, b, ¢ 3 d
(C) Faela,b,dsMe
(D)  aetb, ¢, d3le
()  sgafta us

| Congg_
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Match List-I with List-I]:

F

~ List-IT

3. Blgod plasma I Cells are suspended
9 in it.

B @Fmogbbin II. Binds with oxygen
zg and carries it to

different parts of
: the body.
c. %ite blood cells MI. Clot formation
d. telets

: IV. Fight against germs
113%.1‘@ | -1 7 firer iy

-1 R - i
a. ?gwm I hifhTd gad
feifora St 2
b, WCRE  IL oo
HEZECRIE:D
g‘(@é | forfrer syt & wgermeft &
- & HITRTIT 11, e oo
R e
Choogg the most appropriate answer from the
optiogﬂgiven below:
e R fereredt & & wraffere suges S o
(A) a-ILb-Lc-IV,d-II

=By-w@-Lb-1,¢g-1V,d-III
©) W-mb-1v,c-ILd-I
(D) ?_g*-l,'b-rv,c-m,d-n.
(E) ('Question not attempted / STTaRd T4
)
Accokgng to Census 2011 which of the following
stateslgas a population less than Rajasthan?
(A) *@disha (B) Maharashtra
©) UBihar (D) West Bengal
(E) f uestion not attempted
201 1) SFTORT 3 STFET feAforfed & fobe Troa
i SR TR & A ofi?
(A) : B) W
©) frr (D) Ot s

® S

g

O

16

- (©

According to the 2011 Census, the sex i/

Rajasthan was:

2011 S SFTURAT 3 STTAT TSI H foi

oT:
Choose the most appropriate answer from .l.

options given below:
reffaa fereedl & & TSI U7 I,
877

921
(E) Question not atternpted / NG Ty

(A)

According to Census 2011 which of the followiy
states has a lower literacy rate than Rajasthanf
Choose the most appropriate answer from

options given below:

(A) TamilNadu (B) Goa

(C) Bihar (D) Nagaland

(E)  Question not attempted - :
SETUAT 201 1 % AFER FEfofad & @ fra o d)
HTETAT T TET & 7 82 '
e fe e et & ek S S gh
(A)  dfEETg @) i

(C) FER D) e

(B) STaiaysy

respect to its population size?

Choose the most appropériate answer from the
options given below: . | |

|
(Bg
't

(A) Ninth
(C) Fifth

Seventh
Eighth




2

which of the following statements is not correct
about Rajasth oad Vision 20257

Choose the most appropriate answer from the
options given below:

(A) Al the%ﬁuages of Rajasthan shall be

broughtunder the market economy through -

this programme.

(B) Inthe first 15 years, all the villages will be
connectediwith roads.

(C) It was (prepared by the Public Works
Departtt@ﬁt of Rajasthan.

(D) After 15‘="5$ars of Road Vision, in the next
ten yeag\a flyovers and four lane state
highwax\ij;vill be developed.

(E) Questionnot attempted

eI SF S (Vision) 2025 ¥ R H

freferfiaa § & -1 o el T &

fraferRaa ﬁ%ﬁﬁﬁ%mﬁwmwaﬁ

() T R 3 T T el e
TSR STfeyaeT & SFard AT e

(B) UEA 15%‘?1‘1@@@@%@
1L IR

(C) € TSI ¥ @i Frafor R 30 daR
feram AT am

D) uSH farswp 15 st % =g SR 10 6 A
qaﬁaﬁﬁ&ﬂt = S TSl TST HEERT 6

.

od of a cow is:

(E)

The Gestation %\1
Choose the m@ appropriate answer from the
options given below:

(A) 194 dayS¥ (B)
© 281days® (@)
(E) QueStIOI‘I__qot attempted
T <l TR ﬁmﬁl &

320 days
101 days

(©) 2811%#0 @) 101

17

\I{ Antibiotics are productsof ________

e
Choose the most appropriate answer from th

options given below: «
(A) Parasites and bacteria : ;
(B) Fungi and bacteria ::
(C) Fungi and viruses 5;
(D) Bacteria and viruses fh’f :

(E) Question not attempted

s (cdarnfe) T e
e faemedt & aammw I
(A) qefiet s Sfamy(B) | FAE I Sfrary]
(C) s A fwm (D) sﬁa’rﬂr i foremy

(E) Hgaiasd ff;:‘z*

Match List-I with List-II:
List-I (Revolution) List-IT (Related t0)

a.  White L F"ﬁ'mery

b. Blue IL. Agglculture

c: Yellow 11I. bjg(

d. Green IVe (I;l:seeds

-1 arr G- nwﬁrawﬁ%q

G-I (it Teft-11 (@i )

a. aq L. e

b, el IL. ﬁg

c. diedt IL. ;. ;

d. &fa v. @1}%?

Choose the most appropriate gnswer from the
&

options given below:

H R frehedl & @IS ITGH I

(A) a -\HI,.b -IV,c- I,\d - II@Q

B) aNILb-Lc-IV,4-ILY
© a-I,b-III,c-II,d-Iv;:;j
(D) a-IV,b-T,c-TLd-E3
(E) Question not attempted [,%‘:ﬁ&a sy

[ Contq,




N6 The price of milk is fixed on the basis of the |
content in it

Choose the maost apprepriate answer from the

options given below:

(A) Carbohydrate
(B) Lactose
(C) Protein
(D) Fat
(E)  Question not attempted
9 1 e 8 Fuferq EIRIEIE B
W e s 21
Freferfan fosped & & affre sugw s =+
(A) FrterEge
(B) <%
(C) - WidH A
) T "
(E) gaiaws

\77 Extra feeamg of pregnant cow should be doné\
after of pregnancy.
Choose the most appropriate answer from the
options given below:
(A) 20 days
(B) 1 month
(C) 3 months
(D) 6 months
(E)  Question not atlemplcd»
migdt T ® Afafes diem o mafaen &
_ uyq femsmr e
frafafaa fasredt 3 @ watfas sogw swa:
(A) 20f
(B) 1H&E
(C) 399
W) 6"
(E)  3igafd wa

\Y{ Which of the following salts in *mineral mix

TUV-co9] ¢

s e

- prevents poitre in cows?
Choose the most ap[)r()priate answer from the
options given below:
(A)
. (B)
©)
(D)
(E)  Question not attempfed _
Freafeafa i & @ o b frsor § frem
A R rger (duT ) B S=E Sar 27
Frafafaa fawed § @ @aifas suges so T
(A) wifegy e
_(B)  idIieE FATTS
(©  dfemeegEs
(R Rfiem sehess |
(E) o¥diE v

Sodium Carbonate
Cobalt Chloride
Sodium Hydroxide

Potassium lodide

The highest milk yielding breed of a cow of
@

9

lndlan orlgm is:
Choose the most appmpnate answer from th

options given below:

(A)

Tharparkar ¢
“(B)  Sahiwal
(C) Sindhi
(D) Haryana e
- (E)  Question not atlempled
ﬂmwﬁmm%ﬁmmﬁm?“
Frrefirfiara fararedt & & wrarfores 393w SACTH:
YA)  UTURE
(B) wrElara
(C) fo=dhi
(D) ef@mn
(E)  oruitd wy

| Contd...



dentify the colour change that takeg place wh
we put an iron nail for ap hourin "

to ablue coloy
copper sulphate solution ip, it. 3
Choose the most appropriate angyer

options given below:- from the

(A) Itchanges to a ¢olq ess solution.
(B) Itremains blye. H 7
(©) It changes to orang€bioyr.

(D) Itchangesto a greefiish colour,

(E)  Question not attem

frfetiad foshedt § @ waffire 3”3?"" dex
(A) %Wﬁamﬁqfﬁ“}m%
®) IfhAwE o
(C) T T et TR e &
(D) ST T oot o &0 & S
(B) AIaiawx
81  Match List-I with List-II: L
S List-I €0 List-I1
a. Stainless steel I N Non metal
b. Gold 1I. by Metal
C: Sulphur IS Ailoy
d. Magnesium IV\Q Inert metal
T -IR g - 8 G :
et -1 gt -11
a. E=oic] . g 3EIg
b. Ul 1. €0 =g
c.  HWEH 11N fepgrarg
d.  iAfem IV&} afshar oy
Choose the most approptigte answer from the
options given below: O
A3 R e feedt A @ 7w I
Cé’a) a-H,b'VIV,C-m’,%,'I
@Pf a_H’b..‘I]I,c-IV{gJ-I
(C) a_m,b-IV,c-II;_‘dq-I
) a_Ig,b;-N,c-I,ﬂII ,
(E) Questionnot attempted / TR H
(Vo)
TUv-co9] & S

19

f
&2 Which of the following is not a property ©

metals? 5

A e
Choose the most appropriate answer from
options given below:

(A) Most metals are rr;;{_;eable.
(B) Metals are SOnorops;
(C) Most metals have low melting point.
(D) Except lead most metals are good
conductors of heat:”
(E) Question not atter:ii{)ied
fraferfaa & e frdt arg GBI AE 87
frefrfaa fedt 3 & waffires F9gw I G
TA)  SAfreRieT aTqe e gt 8
(B) Ty eATfeh &t éf :
Osy  tfrenieT emgedt & mo FHEA B
) A e R g S g
Bt B s
(E) SAguiawd W3

§5

The famous song of the Bhils of northern Mewar
is: '
Choose the most approg;lfiate answer from the

options given below: ;¢4

(A) Maand (B), Kurja

(C) Mumal (D){ Humseedo

(E)  Question not atternpted

St s 3 sieii @ g &

e fospedi # & @ UG ST
A) #ie ®) Ft

© T "R EEER

(B) Sgaiays o

. oy R
‘Dhol dance’ is associated with which area of
Rajasthan? -

Choose the most appro;g;'ate answer from the
options given below: (7}
(A) Jhalawar (BY' Jalore
(C) Sikar (15)3 Jaipur
(E)  Question not attempted
Freafefm et 3 & vl 3uge s g,
(A) wrTETS ) SR
(©) i @) SR
(E) Irgafa sy &3
¥ )

&9
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\95\ When was the first battle of Tarain fought? e
> Choose the most appropriate answer from the

options given below:

(A) 1194 A.D. (B) 1191 AD.

(©) 1192A.D. (D) 1193 AD.

(E)  Question not attempted

TS =T TElT I, el T T

Frafafa et ¥ aFifa® 3ugw I I
(A) 11947 B) o T

©) 11927 & D) 1193T &

()  afaws

In which year was the Kota Rajya Praja Mandal
setup?
ﬁammﬂwﬁmﬁaaﬁ@
Choose the most appropriate answer from the

options given below:

ﬁw%%aﬁwﬁﬁ@wﬁéa;wgmwiﬁ:
(A) 1945 BY 1942
(C) 1943 (D) 1944

(E)  Question not attempted / Big?l‘ﬂ?f e
A part of integration, when was the Rajasthan
Board of Revenue established?
Choose the most appropriate answer from the
options 'givgn below:
(A) December 1950
(B) September 1948
(C)  October 1947
(D) November 1949
(E)  Question not attempted
FHIHSH o AT & §9 8§ TRAH Toreg 91 6y
WO HIES?
ﬁtr%ﬁaaﬁm‘fﬁﬁwﬁbwwgmmgﬁ:
(A) fewmt1950
(B) foaww 1948
© I 1947

D) TR 1949
(E) rgaf@yx

TUV - Co9 ] -Q}
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iy dfforr wirfra e <h TSR feRE fopa?

(A) Jaipur (B) Barmer
(©) Kota (D) Ganganagar
BLE) Question not attempted

Who invented the musical instrument

“Mohan Veena”?
Choose the most appropriate answer from the
options given below:

(A) Dr. P.K. Sethi

(B) Karpur Chand Kulish

(C) Jagjit Singh

(D) Pt. Vishwa Mohan Bhatt

(E)  Question not attempted

PR fepedt # & waifors ST S I

(A) SEF A  (B) HY TR FloRT

€ wnfafe Q) o fraHETvE

(E) ruia s

Accordingto Census 2011, which of the following
districts of Rajasthan had the lowest population "
growth rate during the decade of 2001-2011?
Choose the most appropriate answer from the
options given below:

2011 STV % STTER 2001-2011 3 376 % SR
m%ﬁ%ﬁ@%%@#aﬂwq@

S aH off?

ﬂ%ﬁqwﬁw‘iﬁﬁmwﬁmgﬁ:
(A)  SER (B) wTEW
(C) wrer

) TR
(BE) <rgdf@wy = |

As per the Census of 201 1, the population density

in the state of Rajasthan was persons
per square km.

2011 ﬁm%:ﬂgﬁm ST TS T STEEAT
LELE) =t wier ot et oy

Choose the most appropriate answer from the
options given below: =

ﬁw%%aﬁm‘iﬁﬁwﬁawwgmmgﬁ:
(A) 211 B) 165
O 201 D) 325

(E)  Question not attempted / ST sy
[ Contd...



DN The place from where the Banag river originates
is known as:

b=

Choose the most appropriate answer from the
options given below:

(A) Bheroka Math

(B) Mountain of Nagg

(C) Minda

(D) Janapav hills

(E)  Question not attempted
mﬁaﬁﬁﬁmzﬁ%,agmmm%:
frafaRad e 4 4 A e Iuges 3ot -
(A) WHH ) TR
©) xs@ ST qaTe
(E) AgaRa g

Which river of Rajasthan originates from the
place Minda of the mountains of Vindhyachal?

Choose the most appropriate answer from the
options given below:

(A) Bangangariver (B) Luni river
(C) Mahi river (D) Chambal river
(E)  Question not attempted

TSI T -HT 787 fearaet yda % fyver s

 foherdt 22

frefafe fospedt # & aaifire soge s

W) worma o (B) e

() HEeEr @) = &

(E) SAgaiawd

Which of the following is the biggest artificial \9&
lake of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Udai Sagar (B) Jaisamand
(C) Didwana (D) Pichola
(E)  Question not attempted

frafefaa & & TSEUE it geR S HHW A

H-H 82 | _
frrferRaa fasredl § & @affie Iugw 3T A:
(A) IFEOR  B)  TEAEHG
(©) Jeamr (D) foorer
(E) orqaid 94

TUv-co9| < 2l

. ikas
By which of the following month are Raik

known to move for pastoralism?
: the
Choose the most appropriate answer from

options given below:

(A) August (B) June

©)  July (D) October

(E) Question not attempted .

T, et # & for Wi o ayemer & T
frafafaa fered § & aaffers Iuge ST
(A) 3FRd ®)

(C) g W) IFESR

(B) aiawyd

The Bengal tiger is found in:
Choose the most appropriate answer from the

options given below:

" (A) Desert (B) Mountains

(C) Delta area (D) Plateau

(E) Question not attempted

ST TR I 7T 2

Fefetiaa foreredi & & waffare suge 3o o

(A) TEEAH (B) UEISt &=
~NO) ST 8 H (D) USRH

(B) ATaia ¥

Which of the following states does not share its
boundary with Rajasthan? -
Choose the most appropriate answer from the

options given below:

(A) Haryana (B) Uttar Pradesh
(C) Maharashtra- (D) Punjab
(E)  Question not attempted

Frafafea & & Ha-ar usa = F gy o7t
HHT I AT T A

ﬁm%mﬁwﬁﬁ%waf&wwgmw:ﬁ:
(A) =f@mr (B) WY
(Q) Wenrg (D) U™
(E) Srgaia s
[ Contd...



\{ Rajasthan shares its North Western and Western

boundary with which country?

Ch?ose the most appropriate answer from the
options given below:

(A) %‘ghanistan - (B) Nepal

(C) “Pakistan (D) China

(E) Fthestion not attempted
TSTET S70t Ser it i afindt whiar foha 3o 3
P famedt 3 & wafferss 3w 3o 3

(A) éir;qarrﬁmn (B) AUt
~NQ)  HifeREE (D) ==

(B) aid 94

The Seuth Eastern Plateau region of Rajasthan is
also known as:

Choose/the most appropriate answer from the
options{given below:

(A) (Mewar hills

(B) tHadoti Plateau

(©) t-"éundi Plateau

(D) “Bundelkhand Plateau

(E)  Question not attempted
ITW!;M%EFW@W & o 38 A § ot ST

frefefiaa fashedl § & waifires Iagw STIA:
(A) EgTEd By EREMI YR
(C) tuer (D) = FRAGUS YSK
(E) "ﬁw g

Which{iof the following National parks of
Rajasthan is included in the list of World
Heritages?
Choose the most appropriate answer from the
optionsigiven below:
(A) {Mukundra Hills Sanctuary
(B) (Keoladeo National Park
(C) +Rhnthambore National Park
(D) ‘Sariska Sanctuary
(E) ¢ Juestion not attempted

S AT TS Fe fa feraa e
SrTfiret fefer 77T 22
Frefafiga forered 8 & waiferss Iage 3ot T
(A) L\‘ qETEl STIT
W®H Tsdia e
(C) WU e
(D)  (FJTeahT SR
(E) (Sgaiea 94

TUV - cosfii’ &

100

1q1

22

~(B)

Q@ ©

In
in fertility and has more salinity.
Identify th%oil type.
Choose thgwpost appropria
options giverl below:

(A)  Alldvial soil

(B) Latq(!ge soil

(C) Desérbsoil

(D) Black soil

(E) Question not attempted

ToreT # @ a1 9 2 freonfua BT ®, W
ST e eraoTaT STfore Bl 2

T 6 T |

et gt
(A) ST
(B)

Rajasthan this soil is displaced by winds, lack

te answer from the

NC)  HEEISAT gaT

(D)
(E) raia 9%

tN
In 2023 th@

Rathore was given the Arjuna Award for th

ajasthani player Divya Kriti Sing|

game of:- W
Choose the most appropriate answer from th

options given below:

(A) Shosting .
Poléx)

Equ‘g_}_g[ian

Equestrian Dressage

©)
(D)
(E) Que%n not attempted

2023 H TRt Raeret fesredt fife wSts @1 31
e for et o fort feam
ﬁm%ﬁaaﬁiﬁq} i & waifire Sugw ST
(A) |
(B) el
(D)
(E)

TSR w8t
ST o1
[ Contd.



ﬂé Who among the following from Rajasthan was \\HE Match List<1 with List-11:

awarded Padma Shri, 20247 ‘ List-1 (Festival) List-11 (Place)
Choo§e the most appropriate answer from the

a.  Summer Winter . Bikaner,
options given below: Pestival
(A)  Shri Laxman Singh b. KajliTej I Jhalawar
(B)  Shri Lakha Khan Manganiar ¢. Kolayat Fair 11l. Mount Abu
(C)  Shri Moolchand Lodha d. Chandrabhaga Fair 1V. Bundi
(D) Pandit Shri Laxman Bhatt Tailang - .!ﬁﬁ l%m‘ﬁﬁ 11 v fireirs T
(E)  Question not attempted geft-1 (@ER) -1 (FUT)
qrsreerT o6 Feferfiaa o @ frd v qeeam 2024 @ o, thver it ot 1. s
e R e Ry b. helett @St 1. AT
Freafirfie fararedt f @ erarffiras swges s . aremtiten, S . A
(A) o Em fig 3 > d. SR A SV il
B) i smEt wm . Choose the most appropriate answer from the.
©) W@m opllons given below:
(D) tifea o wremor g Aem Ay frw e ferehedt 3 & wrartferes Jugw SaC A
) smEEmE ‘g a-1b-1,c-1,d-1V
a-1Lb-Le-1,d-1V

) a-1V,b-NLc-Ld-NI
W) a-lLb-1v,c-1,d-1II
(E)  Question not attempted / SITTRT 54

103 The National Service Scheme (NSS) a Central
Sector scheme of the Government of India is
under which of the following Ministries?

Choose the most appropriate answer f“’“f’ the\\l{ Which of the following is not a wildlife sanctuary

optlons given below: of Rajasthan?

(A) Ministry of Womenand Chlld Dcvelopment

Choose the most appropriate answer from the
(B) Ministry of Education

options given below:

(C) Ministry of Social  Justice: and (A) Van Vihar wildlifé sanctuary
Empowerment (B) Sajjangath wildlife sanctuary
(D) Ministry of Youth Affairs and Sports (C) Ramsagar wildlife sanctuary
(E)  Question not attempted . (D) -Parasnath wildlife sanctuary
ol [T AT (. TH. TH,) A LI EIRC] (E)  Question not attempted
Sty s <ot aiverT 2, 7 Freferfiaa @ @ fora samei ﬁﬂ%%ﬂﬁﬁaﬂmmawvﬁamwmm
% s 27 WS
Wﬁmﬁammm@ mﬁmﬁﬁmmwﬁ
(A) wfec ud are o s (A) & faer a=r sfta anvemer
By R AT (B) HSSHTG A St oo
(©) iR =T ST sfu e (C)  THETR a1 St S
(D) T e ST AT HArer ~D) AT a2 sfte s
: ®) Pa— (E) orgaita g : .
TUV 09 | 4 ’53 | Contg,,,
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‘Statio Shiv Shakti’ or ‘Shiv Shakti Point’ is the
name of* A~

Choose the most apm)priate answer from the
options given below:

(A) The landing g’}e of Chandrayan -3’s

Vikram landerey

An Indian Poirfn Atlantic Ocean

A Space Statiopon Mars
(D)  An Indian Station in Antarctica
(E)  Question not aftémpted
v nifts Rfwt a1 Qi wie
Frfofas fyewedt

~A)
(B)
©

B)
©)

forg formapr 20
ﬂ"qaf&a;sqgmwa%
F=AH-3 F forspwi et o e e
I TR R & w Tt faig
HITA U8 W U S e

(D)  ierhfea F wa Mt Sy

(E) gai@awsy

Which monument is known as the “Hawa Mahal
of Jhunjhunu?” <

Choose the most appropriate answer from the
options given below: '

(A) Khetri Mahal &N

(B) Jaswant Thadat

(C) Jagmandir pala§

(D) Lalgarh palace

(E)  Question not attempted

FI-HT SHRA “HgL i e % 7 & foeama 22
freifae fordhea & Juge T
™ wagtasda :}:B). SrEE T9T

(C) SEfIITE (D) derTE do
(B) JAgEi@sd O :

Where is the Gagron grt situate_d?

Choose the most appropriate answer from the

options given below: ;
Jhalawar

(A) Bharatpur  6B)

(C) Alwar @) Karauli

(E) Question not attempted

TR fope et 9 Rl 27

Fretferfaa fomedt & EAER
(A) AL oR

C) IR D) FH

(B) rgaia 94

TUV-C09]

\Q

\{l

) TRFTER ®) SedwEn

What did Dr. P. K. S(tFi co-invent

Ramchandra? (4 0] .
Choose the most appropridte answer from

options given below:
- (B) ¢Jaipur elbow

Jaipur foot

Eg)) Jaizur wrist (D) Qaipur knee

(E) Question not attempte

< ot %, 9 Y T & Ay e

foram? <

e et 8 & watfiley S9ge ST
a) SEgdE () AR

(E) 3raita s 8

Maru Raikas of Rajasthan 4¢d basically:
Choose the most appropriate answer from
options given below:

(A) Goat herder (B) ¢XCamel herder
(C) Sheep herder (D) ﬁatﬂe herfler
(E) Question not attempt@q

TSTET o AT T3 a4 a4

frfafas Rl § & GG ST qA:

(© W FuER (D)WW%W%
(B) Iguia v o
N

Banjara, a well known gf'(?llp of graziers
found in the villages of : =)

Choose the most approprigte answer from th

options given below: o
(A) Goa (B) Bihar |
(©) Rajasthan (D) g«ndhra Pradesh

(E) Question not attemptedy
ST, TR 61 0 g T Tt

91T ST 8| N

P et & st s ww
(A) i ®) Cfrer

© TE (D) AT TR

(B) Iguiawy

[ Contd...



@Under which section among the following Zero

@ Which of t@ following Rajasthan state projects

FIR comes in Bharat Nagrik Suraksha Sanhita
2023 (BNSS)?
R AR dfear -2023 (&t @ Ty
Frafafas #8 fra arr % sigta s TFH 378 A
e N

Ch . 7
oose thwost appropriate answer from the

options givéa’below:
Freafeaaa et i & watfires suges soc:
(A) 191 ;
(B) 170 g
C 173
| ED; 178 Sj
(E) Que%n not attempted / STTARA T4
O

has been gtanhted the National Project status as
updated in @y 20237

Choose thq:.’wst appropriate answer from the )
options gi\@f!l below:
(A)
(B)
©
D)

Eastgrm Rajasthan Canal Project
Gonfukhi Medium Canal Project
Upp%Rajasthan Bhadra Project
Anafidpur Barrage Canal Irrigation Project

(E) Quc%n not attempted
ﬁw%ﬁaa%mmﬁmqﬂawaﬁw,

2023 ﬁyﬁ%wmmmaﬁﬁm

™R O '
et faapedt 3 @ aaifrs 39gw 3T T

\135

. 25

(©
X

-li\ Select the incorrect pairing from the following’

feed stuffs and their accompanying description:
Choose the most appropriate answer from the
options given below!

(A) Feedsrich ir%parbohydrates - Barley

(B)
©)

(D)

(E) Question nogtempted

frerffiaa w0 qrft g 39 dere foRed § Terd
R

gmmrawsﬁﬁrq;m

forferfiaa faeredt S @atfers suge 39t I

(A) Wéﬁﬁmsﬁ

(B) ARSI

WA & w5 =w-ferter

Frafa g4 g

N

Which of the folﬁving is a coloured broiler

poultry bird? ¢
Choose the most gpropriate answer from the

Green foddeg.«|Berseem
Non—legumi%bs dry fodder - Lucerne hay

Feeds rich i protein - cotton seeds

(E)

options given below:

(A) CARIBRO BHANRAJA

(B) - CARI PN\%

(C) CARI SONALI

(D) CARIBRO gSHAL

(E) Question ndtfattempted

forferfiaa & & Mg T SiTser fifez qaft &9
F3 RE(GARIBRO DHANRAJA)
¥4 firar (CARI PRIYA)

3 gt (%gm SONALTI)

st %W@ARIBRO VISHAL)

AT TF ¢

(A)
(B)
O
(D)

(E)
[ Contd...




| in the thomp
‘ : asses are found 1
W6 Which of the following animals is used. for the 4{ Several types of gras

Preparation of vermi compost manure? forests of Rajasthan.

. them.
Choose the most appropriate answer from the Identify the main grass amf?ng wor from i
options given below:  Choose the most appropr iate AN b |
(A)  Leech (B)  Silk worm options given below:
%) it .worm @) Milliede (A) Jharber (B) Sevan
(E)  Question not attempted ‘ F ‘ (D) Kair
Frfefiaa & & #7-ar siq affrine ar & (&) Qog tion not attempted )
ST foar Siar 22 ‘ | (B)  Questi i areft et &
ﬁnﬁaﬁaﬁwﬁﬁﬁmmm-ﬁ:  ToRAA R I aﬂ’lﬁaﬁiﬂﬂﬁﬁqlm k|
(A) S B) faewmad eme) |- 'ﬂﬁm“ﬁ@mﬁ L T
Qe D) fuchdes . Fnferfiaa R § @ watferd I9g®
(E) Sqafa wy . (A) TR B) - @am .
Q’ In Rajasthan hot, dry and dusty winds start (&) Loy (D) A .
blowing in summer which is called : (E) :ﬂjﬂﬂ'ﬁﬂﬂ !
Choose the most appropriate answer from the ‘ .
options given bclowl-, v ' T\Q Which of the following statements are correct?
(A) Siroco (B) Taku a. Melting of ice is a chemical change.
(C)  Foehn (D) Loo ‘ b. Formation of curd from milk is a chemica
(E)  Question not attempted change.
s Eﬁ 3 aﬂﬁﬁ’w@‘%mm REE k. Rusting of iron is a chemical change.
g ﬁ\ i..mm%| ) ' d. Dissolution of salt in water is a physical ¥
S R s KA 3% 5 ﬂﬁ change.
(A Tadm (B) dm C B it : from th
(©) e (&)\ q : . Choose the most appropriate answer from t g |
(F) wa ‘ - | options given below:

(A)  aandd only.
'(B) a, b and ¢ only
(€) bandconly
(D) b, canddonly

\]{l Rajasthan receives most of its rainfall from

Choose the most appropriate answer from the |
options given below:

(A) South - west monsoon . ‘ (E)  Question not attempted
(B)  South - east monsoon ‘ Freafafaa & § S19.3 a0 g %
(C)  East - west monsoon BE a‘ﬁﬁﬁfﬁm@; A "
" (D) North - south monsoon » : b @ﬁmmm@ e sl
(E)  Question not attempted ' VR Y I — b SIRIEER (eCE ST
S o i st an & W At . TR aftrd )
ﬁ?&( # e \dﬁﬁqmﬁmﬁww%qﬁaﬁq%\l ‘
i o wru faeredl & & W Juge IO Wﬁmi‘ﬁﬂﬂﬁb&ﬂgﬁwgﬁz |
& . (A) ¥ a3t g
(A) cfEorefidfiaegs ‘
afaor-geff AT B)  Faa, b3y
(C) yiafrhamgr (©) ¥ b afr ¢
(D) 3vt-afamoft qrg - D) FAD, ¢ 3 g
(B)  orgafaga iy (B) siERa gy
TUV-Co9 | {I} 2
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Q% Choose the irreversible change from the
following;:

Choose the most appropn% answer from the
options given below: o

(A) o

(B)  Compressing the sponige

(C) Chilling of milk '

(D) Burning of wood

(E) Question not attempt

FrafaRaa & & sgemi EQRCIERE
e fepedt & & wratfig Fugw s
(A) Th& U (B) OFES %1 EdeT

(©) TaH A () OFhEt &1 STt

(E) i@y s

When the tip of a piece ga thin ribbon of
magnesium is cleaned and BgQught near a candle

flame it burns with a brilliadf g

Choose the most appropriate answer from the

Melting of ice

options given below: =5

(A) Blue light @B) Phite light
(C) Yellow light (D) _Red light
(E) Question not attempted]

AT ¥ U T B () F e % Tk

aﬁwmwﬁmaﬁ%%ﬁwm?ﬁ%
ST 2l

frfefad fmedt 38

(A) =HHER it ST & G

(B) THHER Tha TehINT oh @l

(C)  =rehaT ey SehTST o AT

(D) =IWERER TSl YT

(B) SAaiayd O

Who were the Phad reciters®)

Choose the most appropriate answer from the

wg?ﬁsatgerz

options given below:

(A) Banjaras (B)
(C) Kalbelias (D)
(E) Question not'attemptci:g‘I

e ¥ aTeish H A7
ﬁqﬁr@aﬁmﬁﬁwﬁ%mﬁwaﬁ
(A) S B) Sefrar

© weAfmr (0 S
(E) i@ 94

TUv-co9] &

Bhopas
agrada

(

6

74

27

NZ\_ Forts situated on high mountains

are called:

Choose the most appropriate an%%er from the

options given below: ol
(A) SainyaDurg (B) Dhanvdn Durg
(C) Giri Durg (D) Parlmburg
(E) Question not attempted

| ﬁwm‘s’mmmﬁﬁmwg

frfafaa foeedt & & @atfaes 31727?5 A
(a) =T ®) g

Q fifegt (D) g
(E) 3rafa ¥ | 'Z'::l

125y At 10% per annum compcéngd interest,

compounded half yearly, in how rilich time will
24 mioriths
12 an‘ths

a sum increase by 10.25%?
(A) ®B)
© (D)
(E) Question not attempted &0

10% aTTies Tshafs ST T, Sfafeh SaJST STaanyh
A T e, A ama g afir d 113!25%&»‘131’33' .
B SITEfr? ,
A) 157EH (B) 24 n%
(C) 11mEH (D) 1208
(E) SAguiayd :

. The ratio of milk and water in @4 liters of a
mixture is 5:3. What amount of ditik should be
added in the mixture to make the r 0 9:4?

(A) 12 liters B) 14 11;@;
(C) 16 liters (D) 15 litgss
(E) Question not attempted .3
64 fex 3 forgror & g SR o F 31T 523 R 3@
ﬁawﬁaﬂtﬁamagmm%i@gm 9:47

15 months
11 months

(B) Iguia g4
If 8A = 9B = 10C, then A:B:C is:
Ifd 8A = 9B = 10C, A A:B:C®: (0

A  45:40:36 (B) 40:45:36
(C) 45:40:48 (D) 32:36:45
(E)  Question not attempted / 3TN Wy

[ Contq.
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128 A sum of Z 300 is to be divided among P, Q and \39 The full form of N. F. E, with Tefey

R in such a way that Q gets T 30 more than P and nutrition of cattle is:- %

R gets ¥ 60 more than Q. Then the ratio of their Choose the most appropriase answer ¢

shares is: options given below:

X 3001 TR P, Q o1 R # 59 yorme sty 2 Q - (A)  Nitrogen Free Extract

FPEZ 30 WW@TWR@Q@?@W (B)  Nickel Foam Extract

TH &Y 37 fag) & ST - (C) Nitrate Fluorine Ether

6A)  4:5:6 (D)  Nitro Fluoro Extract

(B) 3:4:5 (E)  Question not attempted ]

© 346 | AR e . g
oy 235 ﬁﬁ%%ﬁﬁm}ﬁﬁﬂaf@wmmﬁ]

(E)  Question not attempted / 3TTARa gy ™ ﬁmq:q; 1

: (B)

\LZQ Feeding large doses of vitamin ‘D’ one week © ?lsézwﬁﬁ-—rém L}
before calving protects the cow against: 0 qﬁ@ﬁﬁméaz i
Choose the most appropriate answer from the 24 aﬂﬁﬁﬁ = i
options given below: : |
A) Mk fover - , \l{ Continuous inbreeding increases: |

_ Choose the Most_appropriate answer from tl;

(B)  Foot and mouth disease . 3l beidl %
(C) Udder Congestion ‘ @) Fertility ‘
(D) Kgtosis B) Homozygosity
(E)  Question not attempted ©) Het erozygosity
a@%aﬁmﬁ%@mmmﬁﬁaﬁq o (D)  Ovulation capacity
1 at wm g 8 et Ty (E) Question not attempted
I BIe - TR It St 8- I
Fresftan fasredt & watfres suge e, PR et i s sugm st

N fore (A) S sy |
(B) 1 o et T (32 0 w1 fewfie, (B) TS !
(©) ot 5 deper ©)  forempey .!
(D)  Frif (D)  3idveent gy |
(E)  srafa wa | (E) Sty wsy

TUV- o9 b 28
Jax A
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134

TOV.co9] & 2\32., 2

) 204, 1.2, 8
2l (o2 o LY
_k Y Al B. %, L
thzic: of the followmg are the endoparasites of
cattle
2 05\1 '\’L _g_

a. Ll.ce 10 10 )
b.. Tape worm o 7_0\4, 12 p
c. Ascaris :
d. Liver fluke
e. Ticks

T |
Choose the most appropriate answer from the

options given below: 5@}
(A) a,cande only (B) dande only ‘:0\3
(C) b,canddonly (D) a, b and c only
(E)  Question not attempted
Frafe & & - wIRT 3 si e 3
a. ST '
b, TR
t. e
. AR
.. Foorh ()

ﬁﬁﬁmﬁmﬁﬁmm:ﬁtam
WY ¥ a, cfe (B) Fawdaite

€) e b, cIARd (D) @aa,baﬁic
(E) SIgaiawyH

The LCM of two numbers is 8 times their HCF l

and sum of LCM and HCF is 108. If one of the
numbers is 32, then what is the other number?
3 weaTail T LCM 37 HCF T 3113 THT & T

LCM & HCF T 30T 108 31 afE 7l § T e 32

2, ot et we T 7

(A) 28 B) 36

©) 32 D) 30

(E) Question not attempted / Frafa g4

Three numbers are in the ratio 4:5:6 and their
HCF is 8. The LCM of the numbers is:

7 FaTd 4:5:6 3 ST H & S ITH HCF 8 2l
T 1 LCM &

(A) 120 B) 960

O 480 (D) 240
(E) Question not attempted / FrgaRa 9

Gy, A% §b

2\

2.

136

29

2 1%
\S/‘/ Yy DL

@A) 408

\35 What is the LCM of 20.4, 1.2, 8 7

20.4, 1.2, 8T LCM FTR?

(B) 408

(C) 816 (D) 8l1.6

(E) Question not attempted / Frata 34

: i as
Rajasthani literature of the Bhakti period W
mainly written between '
Choose the most appropriate answer from the

options given below:

‘ (A) 1850 to Present time
(B) 1050-1450 A.D.
(C) 1450-1650 A.D.
(D) 1650-1850 A.D.
(E) Question not attempted

wifer et T TSR AR TP

ez fora
Pt freedt § & waifirs Suge AU

(A) 1850 & I GHI
(B) 1050-1450 T. €.
(C)  1450-1650 T, .
(D) | 1650-1850 T, €.
(B) STguid ¥

Which genre of Rajasthani prose and poetry were
written in Sortha verse?
Choose the most appropriate answer from the

options given below:

(A) Rupak (B) Saakhi
(C) Dwavait (D) Vaat
(E)  Question not attempted

| H‘T{a@aﬁwaﬁtw%{wmﬁrﬁpﬁﬁmm
7
freferia fompedt 7 @ warifares sugew swoay,
(A) ¥ 9= (B) wrEh e
[OWESy D) @

(B) SAguia oy

[ Contgq,
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teaching ofAnUbhav Vaani” containg the spiritual
Chicsse Whiehyof the following
e :
OPtions give:gé:pjpropnate answer from the
A Saint Mgy
(B) Maharshi:}iavalram
(©)  Ram Chargip
D)  Saint Rariaby;
(E) Question Dot attempted
I8 ca‘ﬂ“a S F frefafe § 9 fraes
et g g
W Xt &Wffba;aqgmmﬂﬁ
HAR (®) - Tl e
© Wy ¢y D)  wa omar
(E) ATaRa wip

Besides Gogaji:h';x:hich other folk deity is revered
as the God of Setpents?

Choose the mosé appropriate answer from the
options given bsel w: ‘
(A)  Mallinathii, (B
(©)  Ramdevji': (D) Tejaji

(E) Questioxf_fﬁét attempted

TIITSAY 3 STETTaT - i e syt e
Y T g7 ST 22,

Frefirfer e & erafies g v

Pabuji

(A) weeFES  (B) ot
© mREH @) e
(B) orfafa g% ‘

The life historyof saints which is available in
poetry form in il%jasthani language is known as:
Choose the most appropriate ahswer from the
options given below:

(A) Marasya;j; (B) Vaat

(C) Parchi &y (D) Prakas

(E)  Questionnat attempted

Hal T St st fob TSt oy & ey w0 8
W%,maﬁ;% '

Frffae foaredt,d & watfire sugw s

(A) wEem  (B) 4@

{C) ureEr (D) Y™

(Ej AT 54

TUV-co9] &

30

141 Forests and waste land belonging ¢, the-
Mg government

. Choose the most appropriate answer from the

)

|

d
communities egs called:

Choose the mopt appropriate answer frop, the
options given®eélow:

private individualg

(A) Private forests

(B) Protected forests d
(C) Unclassed forests

(D) Reserved forests

(E)  Questibdnot attempted

st s Pl ST S & i
3t s of &

Pt gt & Fratfies Suges s,
A F=haap B) Wraaw

©) wwfigess (D) wfwa
(E) agaﬁaw%er |
The SitamataWildlife Sanctuary is located at:
Choose the Swst appropriate answer from the
options givert-lgflow: J
(A) Jaipur (B)  Chittorgarh ,
© Alwarg;3 (D) Bharatpur ]
(E) . Question not attempted

T Serelig, s for 2
ﬁw%f@aﬁmﬁﬂmf&arwwgﬁ:
(A) SEgFN B) Frtere

Q) WR} (D) YEaEH

(B) raitayy

Which of the‘:’Q)llowing natural resources do not
require conservation? !

options given Blow:

(A) Solar eﬁ%}gy (B) Water
© Ar N ) gop

(E) Questi&ﬁ]ot attempted | j
frefafan T N ¥ forgan forg |
T AT gy 29 !

et et & rarfires s s
(A) Wt (B)
©) = ) T
(E) i wy R
[ Contd... |
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2p X ih
%lo(ﬁ
84

<‘j g P
A shopkeeper bought ball pens at the rate of 8 for

¥ 40. How many ball pens should he sell for T 30
in order to earn 20% profit? :

T THEAGR A X 40 68 Y 2 § siieni afizf 200
m“ﬁ?‘m*@?&?.z\oﬁmﬁmﬁ?wﬂ

fe |
B) .4 %{:/ :

(A 7
(D). 6. . -

<© S5 .
(E)  Question not attempted / 3TTafa I57

A shopkeeper sold 2 bedcovers at ¥ 594 each. He
earned 10% profit on one and lost 10% on the
other. Whatis his overall profit or loss percentage?

(A) 2% profit (B) - No profit, no loss
(C) 1%loss (D) 1% profit
(E)  Question not attempted

U THFER A 2 TR, TS HI T 594 § 91 Th T
SH 10% AT 3T 3 g6l W 10% =T g9 T

freTas 3aarT @ 3rea efr gfaera @ 22
(A) 2% (B) T B
Q) 1% (D) 1% @™
(B) raf@aygy

A shopkeeper sold an item at a profit of 17.5%. If
he had bought it at 8% less price and sold it at
30% profit, he would have earned ¥ 202 more as
profit. Cost price of the item is:

e AT ohig o 17.5% o e Afa 38
8 R 8% FH Hed T @l et ST 30% T T
<t St 41 I T 202 I T ITH EHT BT TEH

1 3 0 &

(A) T1900 ~  TBP 2000

(C) T 1980 (D) T 1960

(E)  Question not attempted / S g

An object is placed at a distance of 60 cm in- front
of a plane migror. What will be the distance
between the object and image formed by the

mirror? :
@mm%m“ﬁwaﬁﬁbﬂ cm ¥
3t o T ST, A S gr s A 36
afefarer 3 offer 1 @t Faeref 2

Choose the most gppropriate answer from the
options given below:

fereperdl # @ waTHeres Iuges AT
(A) 150cm B) 60cm
(C) 100 cm (D) 120cm
(E)  Question not attempted / SITARd T4

149

iso

TUV-C09| & ' 3

\‘4,8 What will be the number of images formed for an

object placed in between the two plane mirrors
placed at an angle of 60° between them?
o A 60° 3 0 9T T A G Zdvil %
foogar e 5 ) ey sfafeiet o g foreft &7
Choose the most appropriate answer from the

options given below:

Freaferfia freetl i @ waifires ST ST
(A) 6 (B) 3
() 4 ) S

Question not attempted / iﬂjﬁf(ﬁ 94

()

(E)
A spherical mirror in which the outwardly curved
part works as a reflector is called :
Choose the most appropriate answer from the
options given below:
(A) Convéx mirror
(B) Plane mirror
(C) Parabolic mirror
- (D) Concave mirror
(E)  Question not attempted
weh et aor, fraerr sTet i AR dfshd WIT TH
qrEdes i wife T T ], 98 FEAmar e:
Frmiferfia faareri 3 & arariféres Fages ST
RUSERE LRk
(B) |HAS F40T
(C) A (duEforh) sdor
(D) 31Eas 4
(B)  safagd

A cross in which the F, generation is crossed
with the recessive parent is called:

Choose the most appropriate answer from the
options given below:

(A).  Polyhybrid cross

(B) R'cciprocal Cross

(C)  Test cross

(D)  Back cross

() Question not attempted

toT d@at (R o By odiel ST SR STt
S § HUAT AT &, FeeAal e
frafafaa faemeat § & waffas Iagw 9 4

(A) STEHEHT GHT

(B)  cshH R

(C) wheromef (2F2) GHT
(D) T (1) HehToT

() Saf@ a
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